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Answer any five questions

Year x 7941 195 1 t96l 197 r 1981

Production y
(in thsr,rsar-rd tons)

8 10 12 10 t6

b) Fit a curve of the form y = aeo* to the data

Max. Marks: 75

U+81

1.a) Use the false position method to find aroot of the function f(x) = x'- x - 2 = 0in
the Range 1<x<3.

... 
b)" Using Newton Raphson method, find the root of the equation x + log,o x = 3.375.

i',:. i'..i i.,;' Correcr fg"fpU1 significan:t;{igUres ,,...,.,i,:' :...t i.-.: ,.::f?;gl i...: i-. .t

2. Solve the system of equations
3xr-6xrtZxr=15
/-- 

- 
Y f, v 

-1.^t ^2 | 
^1 - L

i:i' i"":i",' x,-3xr:ii,i;=zz i :i"': . . i.'.:i".: :.^.'.;i"'.: :.'.:i":
Gauss Seiaet method. ' 
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3,a) The pressure P of wind corresponding to Velocity V is given by the following
data. Estimate P when Y=25.

b) Given the data points.

estimate the function value 'f' atx=7 using cubic splines. t7+8]
'i' ',"". i.'t ' ",".. :.,.' '. ." :..,' ..,. :.,, '",, i..,' ",. - 1.,.."'"4'.d)" Fit a straiglit line to the following data: i'..: 

', ". i"..: : ;'. '".. ; ''.

:,\l':. 10 26"'.., '30 40

P 1.1 2 4.4 7.9

;*". 0 I a

'xi 4 9 t6

f, 2 J 4

X 1 2 a
J 4

':U' L7 1.8 )"?; ,?)
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x 0 1 2 a
J 4 5

v 4 8 15 7 6 2

i.';.;.il'l'

6.

7.

Using Adams-Bashforth formula, determine y(0.4) given the differential equationdvl
A: ,xy and y(0)=1. Find the initial value by Taylor,s series method. t15l
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Solve the boundary value problemx,,(t.) = z(_*,(t))_zx1t1 with x(0)= 0, x(t) = 1 ,
taking h = 0.5.

t15l

;t; i:',' r'ina trre,jvhiubs of u(x,ti;;::,saiirrving trr.;paia[oric equati,o rri+ = 4* a.4( the i.,i
0r Ax'

boundary condition u(O,t) = 0 = u(S,t) and u(x,O) = 4x _ 1*, ,, the points. x=i,2',
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